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for oneparopnl

for(MHUUaNU3aANUA; OPHEK; MOAUPUKALUAS)
onmeparopJjap;

MbpicaJibl S=142+3+4+5

for(i=1; i<=5; i++)
s=s+i;



while oneparopsl

O31p LUKIABIK ONEpaTOpbIHAA MIAPT UK JCHECIHCH
OYpBIH TEKCEepiIe/l, IUKJI JCHEC1 IIapT aKuKar
OOJIFaHJ1a OpBIHAAJIAAbI, OHBIH, Ka3bLTy TYPI:

while (epHeK) omeparopJiap;
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MpbIcajdbl s- 1 = , <= e e
i=1;

while(i<=5)
{ s=s+1/pow(i,2);
i++;}



do-while oneparopsbi

JIelH IMKIABIK OIlepaTOphIHA IIAPT LMK JCHECIHCH
KEeH1H TEeKCEPLICl, OHBIH >Ka3bLI1y TYPI:
do {onneparopaap} while (eprek);
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MbIcaabl s- 1 Sttt s

i=1;

do {

st+=1/pow(i,2);
i++} while(i<=5);



